Exemptions: Form 8965, Part Il

Insurance is Unaffordable, Code A or G

Coverage is unaffordable if it costs more than 8.13% of household income. For example, Susan’s household

income is $20,000. Her share of the cost of her employer’s offer of self-only coverage is $3,000. Susan is eligible for the
affordability exemption.

STEP 1: Determine what type of affordability exemption each uninsured person in the household might be eligible for.
There are three options offered on the ACA Affordability Worksheet. STOP at the first one that applies to each uninsured
household member.

(Next page)

On the Do You Qualify for Health Care
Exemptions page within the Health Insurance
menu, select CLICK HERE to determine if
you can claim an affordability exemption.

Get the plan cost(s) from the taxpayer. Figure out the cost of the employee or the
employee’s family for the entire year (“annualized premium”).
Enter annualized premium on the table for each month it applies.**

COBRA is not considered an offer of employer sponsored coverage if the individual did not enroll in the coverage. If the
individual enrolled in the COBRA coverage, s/he has MEC for that month and does not need an exemption.

**|f you or another member of your tax household has an offer of employer sponsored coverage for only part of the year,
see Form 8965 Instructions for the Annualized Premium Worksheet.

STEP 2: Use this worksheet to determine whether coverage for each individual in your tax household is
unaffordable.

TIP:
e <— | The MAGI of any dependent
that is claimed and has a tax
filing requirement is included
in household income.

When the employer offers separate coverage for
one or more members of the tax household
(may be referred to as stand-alone coverage),
add the cost of the offers needed to cover
everyone in the tax household as appropriate
and test the aggregate offer.

What is an annualized premium?
Example:
Wilma’s employer offered both employee and family coverage:
¢ The employee-only premiums cost $150/month
(Annualized premium: $150 x 12 = $1,800)
¢ The employee + spouse premium cost $400/month
(Annualized premium $400 x 12 = $4,800)

Use this woksheet if the employer offer includes a partial month:
1. Enter the required contribution for the part-year period

----- from their own employer and is eligible for the family coverage 2. Enter the number of full months in the part_year period
3. Divide line 1 by line 2

4, Multiply line 3 by 12.0. This is your annualized required
contribution
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